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QUESTION 1

Examine the commands executed in CDB$ROOT of your multitenant container database (CDB) that has multiple
pluggable databases (PDB): 

Which statement is true about granting the select privilege on the DBA_users view to the c##ROLE1 role? 

A. The command fails and gives an error because object privileges cannot be granted to a common user. 

B. The command fails because container is not set to current. 

C. The command succeeds and the common user c##admin can create a session and query the DBA_users view in
cdb$root and all the PDBs. 

D. The command succeeds and the common user c##admin can create a session in cdb$root and all the PDBs, but can
only query the dba_users view in cdb$root. 

E. The command succeeds and the common user c##admin can create a session and query the DBA_users view only
in cdb$root. 

Correct Answer: C 

 

QUESTION 2

Which two statements are true about making RMAN image copies of a database? (Choose two.) 

A. They can only be written to disk. 

B. They can be made only when the database is running in NOARCHIVELOG mode. 

C. They can be made only when the database is in MOUNT state. 

D. They consist of all used and unused blocks in the data files. 

E. They can be made only when the database is running in ARCHIVELOG mode. 

Correct Answer: AD 

An image copy can be written only to disk. 

An image copy is the same as datafiles. The disadvantage of image copy backup mode is that it occupies much space
and does not skip unused data blocks. References: http://www.dba-oracle.com/t_rman_10_image_copies.htm 

 

QUESTION 3
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You issue the RMAN command: 

RMAN> BACKUP SECTION SIZE 300M TABLESPACE users; 

Which statement is true about the execution of the command? 

A. The resulting backupset has backup pieces that cannot exceed 300 MB. 

B. RMAN uses multiplexing to perform the backup. 

C. RMAN always performs this type of backup in parallel. 

D. The backup succeeds only if the USERS tablespace is locally managed. 

E. The backup set size is limited to 300 MB. 

Correct Answer: A 

 

QUESTION 4

You are administering a multitenant container database (COB) that contains two pluggable databases (PDBs), pdb1 and
pdb2. You are connected to pdb2 as a common user with DBA privileges. 

The statistics_level parameter is PDB modifiable. 

As the user sys, execute the following command on pdb2: 

SQL> ALTER SYSTEM SET STATISTICS_LEVEL=ALL SID=\\'*\\' SCOPE=SPFILE; 

Which statement is true about the result of this command? 

A. The statistics_level parameter is set to all when any of the PDBs is reopened. 

B. The statistics_level parameter is set to all only for PDB2 when it is reopened. 

C. The statistics_level parameter is set to all when the root database is restarted. 

D. The statement is ignored because there is no SPFILE for a PDB. 

Correct Answer: B 

 

QUESTION 5

View the SPFILE parameter settings in the Exhibit. 
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You issue this command and get errors: 

SQL> startup ORA-00824:cannot set SGA_TARGET or MEMORY_TARGET due to existing internal settings, see alert
log for more information 

Why did the instance fail to start? 

A. because pga_aggregate_target is not set 

B. because statistics_level is set to basic 

C. because memory_target and memory_max_target cannot be equal 

D. because sga_target and memory_target are both set 

Correct Answer: B 
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